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%HUGDVDUNDQ� SHQJXMLDQ� GDQ� DQDOLVLV� GDWD� \DQJ� WHODK� GLODNXNDQ�� PDNDQ� GDSDW�

GLDPELO�NHVLPSXODQ�VHEDJDL�EHULNXW

�� 6XVXQDQ� YDULDVL� EDIIOH� EORFNV \DQJ� PHPLOLNL� SHQXUXQDQ� DQJND� IURXGH� GDQ�

NHKLODQJDQ� HQHUJL� WHUEHVDU� \DLWX� SDGD� SHUFREDDQ� YDULDVL� �� GHQJDQ� EHVDU�

SHQXUXQDQ�DQJND�IURXGH����������GDQ�NHKLODQJDQ�HQHUJL�VHEHVDU��������P�

�� 6XVXQDQ�GHQJDQ�EHQWXN�EHODK�NHWXSDW�GLVXVXQ�VHMDMDU�PHUXSDNDQ�EHQWXN�VXVXQDQ�

EDIIOH�EORFNV \DQJ�SDOLQJ�HIHNWLI�GDODP�PHUHGDP�HQHUJL�

�� -LND�GLEDQGLQJNDQ�GHQJDQ�EHQWXN�NRYHQVLRQDO�\DLWX�JURXGVLOO�SHQXUXQDQ�DQJND�

IURXGH�GDQ�NHKLODQJDQ�HQHUJL�OHELK��EHVDU�GLEDQGLQJNDQ�GHQJDQ�VXVXQDQ�EDIIOH�

EORFNV GHQJDQ�QLODL�SHQXUXQDQ�DQJND� IURXGH����������GDQ�NHKLODQJDQ�HQHUJL�

VHEHVDU��������P�

�� %DQJXQDQ� SHUHGDP� HQHUJL� NRYHQVLRQDO� OHELK� HIHNWLI� GLEDQGLQJNDQ� GHQJDQ�

PHQJJXQDNDQ�EDIIOH�EORFNV�

��������6DUDQ�

%HUGDVDUNDQ� SHQJDODPDQ� \DQJ� GLGDSDWNDQ� VHODPD� SURVHV� SHQJXMLDQ� GDQ�

SHQHOLWLDQ� GL� /DERUDWRULXP� +LGUROLND� )DNXOWDV� 7HNQLN� 6LSLO� GDQ� 3HUHQFDQDDQ�

8QLYHUVLWDV� ,VODP� ,QGRQHVLD�� DGDSXQ� VDUDQ� \DQJ� GDSDW� GLEHULNDQ� GDODP� SHQHOLWLDQ�

VHODQMXWQ\D�DGDODK�VHEDJDL�EHULNXW�

�� 8QWXN�SHQHOLWLDQ�VHODQMXWQ\D��YDULDVL�EDIIOH�EORFNV GL�KLOLU�EHQGXQJ�GLFRED�GHQJDQ�

YDULDVL� \DQJ� ODLQ�� EDLN� GDUL� EHQWXN� GDQ� VXVXQDQQ\D� GDQ� GLEDQGLQJNDQ� DQWDUD�

EHEHUDSD�SHQJDPDQ�\DQJ�GLJXQDNDQ�

�� 3HUOX�GLODNXNDQ�SHQHOLWLDQ�ODQMXWDQ�GHQJDQ�SHQDPEDKDQ�DJUHJDW�VHGLPHQ�GL�KLOLU�

EHQGXQJ�GDQ�GLSHUKDWLNDQ�SROD�JHUXVDQ�\DQJ�WHUMDGL�



ϴϮ

�� 3HUOX� GLSHUKDWLNDQ� SHQHQWXDQ� GHELW� SDGD� DODW� FLUFXODWLQJ� IOXPH�� SDGD� DODW� LQL�

EHOXP� ELVD�PHQHWXNDQ� GHELW� \DQJ� VDPD� SDGD� VHWLDS� SHQJXMLDQQ\D�� GLSHUOXNDQ�

SHUFREDDQ� \DQJ� OHELK� XQWXN�PHQGDSDWNDQ� EHVDU� GHELW� \DQJ� GLNHOXDUNDQ� VDPD�

SDGD�VHWLDS�SHQJXMLDQ�


